
SECTION - A

Q.1 :  Choose the correct option : 4

i) x 5

x 4 3
lim

3x 11 2

  
    

a)
2

9


b) 

2

7

c)
5

9
d)

2

9

ii)

4

2x 2

x 16
lim

x 5x 6

 
   

a) 23 b) 32
c) -32 d)-16

Q.2 : Solve the following questions:  2

i) Evaluate the Given limit:
x 4

4x 3
lim

x 2




ii) Evaluate the Given limit: 
10 5

x 1

x x 1
lim

x 1

 


 SECTION  B
Solve the following : (ANY 3) 6

Q.3 : Evaluate the following limit :
3

x 0

1 x 1 x
lim

x

   
 
 

Q.4 : Evaluate the following limit :

2 3 2x 1

x 2 1
lim

x x x 3x 2x

     
Q.5 : Evaluate the following limit :

2

x 2

x 4
lim

x 2 3x 2

 
    

Q.6 : Evaluate the following limit :
2 2

x
4

tan x cot x
lim

sec x cos ec x


 
  
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Q.7 : Evaluate the following limit : 
2

x 1

1 x
lim

sin x

 
  

SECTION  C

Solve the following : (ANY 3) 9

Q.8 : Evaluate the following limit :

x x x x 1

x 0

6 5 4 3
lim

sin x





   
 
 

Q.9 : Evaluate the following limit :

2 2

x
lim x 4x 16 x 16


     

Q.10 : Evaluate the following limit :

2 2x 2

x 2 x 4
lim

x 5x 4 3(x 3x 2)

  
     

Q.11 : Evaluate the following limit :

x 2

2 x 6 x
lim

x 2

   
 

 

Q.12 : Evaluate the following limit :

x
6

cos x 3 sin x
lim

6x


 
   

 SECTION  D
Answer the following : (ANY 1) 4

Q.13 : Evaluate the following limit :

2
x

6

2 3 cos x sin x
lim

(6x )


  
   

Q.14 : Evaluate the following limit :

x 0

cos(ax) cos(bx)
lim

cos(cx) 1

 
  

* * *




